A= ILINABFZIFZ T#H(R7.4.1~)

1 5B (F/\R) 25 H (F/\R) 3B HE (H/\R)
g3 N\ZE(EPIEERS g2 N\ZE BV RS &8 NRE|TPIERT
hns /) 11:30 hntse sy 11:30 hofs /s 11:30
@KEH=E |3]1133 @ [BEF7 | 5 |11:35 @ |FFEBEHM| 6 |11:36
@ |—=#st L | 21135 @ |BEARSE2HE | 2 |11:37 AN/ 10|11:46
AN /) 8 [11:43 Q |BHAEHRXARE | 3 [11:40 D |BEAREEIVE| 6 [11:52
@ | 5HRAT 8 |11:51 @ (hots s 5 |11:45 @ |BTHRARE| 3 |11:55
@ |smmmsza—sv- | 3 |11:54 @ |BLEZFS 4 (11:49 @ | KBt 4 [11:59
@ |>A/8IHiI| 8 [12:02 @ |KILEXFT | 2 |11:51 @ \f&£ < K=EHR | 3 [12:02
@ | 5HREET| 4 |11:55 ® AL REE | 6 |12:08
® [VILHPDE | 3 [12:11




